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@ Year 5D HomeworkR

Maths Problem of the Week — Decimals and Percentages

Alex says,

Place in descending order.
I~ 3.105 is greater than 3.2

- 0123 0321 0231 0103 because 105 is greater
» 32km 3.21km 3212 km 3202 m than 2

* 65394 65.309 63.999 65.493

Check your answers using place value chart. Do you agree?

Explain your answer.

PARENTS!

Could you ensure that you read with your child at least once a week? As the children enter Year 6, they
will be expected to provide inference and explain answers in order to show understanding of the texts that
they are reading — the class have responded fantastically this year so we want to make this transition as
seamless as possible!

|
Thank you! Read and Spell these words
from the list below — the
English — Gathering Information — ‘Wonder’ children will be tested on
Friday!
changeable
Ve noticeable
manageable
Research Treacher-Collins syndrome, which is the condition suffered by agreeable
Auggie in ‘ Wonder’.
SUEgE knowledgeable
) ) replaceable
You need to collect five facts: how it affects people; how _
common it is; symptoms efc... HUS T g P
salvageable
rechargeable
Have a lovely weekend with your children! inreplacedole

Mr Daly
Year 5 Teacher
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